MAT-222-840 Activities for Chapter 9 Name: SO‘ U'h ons

_ and Measurement
Spring 2017 Date:

Activity 1: Pythagorean Puzzle

For this activity you will need a copy of the Pythagorean Puzzle handout, scissors, and a protractor.

1. Measure the three angles of AXYZ.

msX = 55 ) meY = qoo me7Z = 350

2. Fillin the blank: AXYZisa__ | lgh-k triangle.

3. Cutout Square A and the four pieces of Square B. Put them together to form Square C.

4. What conclusion can you make about the sum of the areas of Square A and Square B as compared
to the area of Square C?

The sum of 4he areas of Square A and Square B s eﬂuql to
Square C.

5. How does this relate to the Pythagorean Theorem?

—

Fue cll XY=, ¥2=b ,and XZ=¢ then we see that

o Z+b%=c?

6. Would this have worked if AXYZ was an acute or obtuse triangle?

No! The Pythagerean Theorem helds only r right tiiangles.



MAT-222-840 Chapter 9 Activities
Activity 2: Right or not?
For this activity, you will need a “Right or not?” handout and scissors.

Cut out the squares with areas 9, 16, 25, 36, 49, 64, 81, 100, 121, 144, and 169.

Put three squares together as in the picture to the right to form a triangle, and
determine whether that triangle is acute, right, or obtuse. If necessary,
compare the angles of the triangles to the corner of an index card to determine
if the angles are acute, right, or obtuse.

Complete the table below. Some examples have been started for you.

Spring 2017

Triangle side lengths a, b, c in

Is the triangle acute,

2, p2 _ 2 _
order of smallest to largest a”+b" = c= right, or obtuse?
3,6,8 9+ 36 =45 64 obtuse
6,8,10 3otbU4=100 | |00 right

4,5,6 |b+25=4] 36

obhuse

2,45 A+1b =265 25

right

6,7,12 3p+19= %5 | o4 obtuse

I1,12,13 |21+ |44 =205 19 acute
7,9, 1\ 49+ 1= 130 12| RCUtE,
4,51 lb+25= 4] 4q ovtuse
5,12,13 25+ 4= 169 149 right

Use the data from the table to complete the following statements.

1. Ifthe square of the length of the longest side of a triangle is less than the sum of the squares of the
lengths of the two shorter sides (Column 4 is less than Column 3), then the triangle is a(n):

acute Jchang!e

2. If the square of the length of the longest side of a triangle is equal to the sum of the squares of the

lengths of the two shorter sides, then the triangle is a(n):

right tnangle

more than

3. If the square of the length of the longest side of a triangle is tess-than the sum of the squares of the

lengths of the two shorter sides, then the triangle is a(n):

obfuse Lniange
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Activity 3: Measurement
For this activity, you will need a tape measure.

1. Measure the width of your team’s table in centimeters. Express that length in decimeters, millimeters,
meters, and kilometers.

(Your ansuers wll vary, but here’s a su%u-ﬁm)

AL cm
' Ilm _
q(a % 1d€C|M€‘Vr=4 qb, dec'lmd.e‘s\ qbc'mx 100 em
x —— =|0. 000 m
U v 132 =[360 O

2. Measure the width of your team’s table in inches. Express that length in feet, yards, and miles.

B inx = 31k

. | ud r
3%\\’\’( g@%—n—: |.05 ﬂd

_ | $+ | my
3B mxT 70 X B2e0ft

= 0.00059975 m

3. Divide your centimeters measurement from question 1 by the inches measurement in question 2. You
should get a number near 2 and a half. Why?

%%Ci—': = 2.526 awfin This somds reasonable, since 1in= 25%om.

4. Why might a student prefer using the metric system when making measurements?

Dividing /multipyng by 10 is Simple!

5. Why might a student prefer the US Customary system when making measurements?

Inthe US, ot least, we have a better intuiive understonding of feet +hn
meters, etc. Stodents wiglt e tempted 10 Shek with what Hhey lanow,



